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GROUP I MAIN – 2023 
 

WALK-IN-TEST I GENERAL APTITUDE & MENTAL ABILIYT  
 

Time : 45 min         Total marks : 50 
 

SECTION – A 
2 × 10 = 20  

 
 

1. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

 
a. If 15 chart papers together weigh 50 grams, how many of the same type will be there 

in a pack of 
1

2
2

 kilogram? 

15 ml;ilfspd; (charts) nkhj;j vil 50 fpuhk; vdpy;> mNj msTila 2
1

2
fp.fp 

vilapy; vj;jid ml;ilfs; (charts) ,Uf;Fk;?  
 

b. The ratio of the sale of eggs on a Sunday to that of the whole week of a grocery shop 
was 2 : 9. If the total sale of eggs in the same week was Rs 360, find the sale of eggs 
on Sunday. 
xU kspiff; filapy;  Qhapw;Wf;fpoik Kl;il tpw;gid kw;Wk; thuk; KOtJk; 
Kl;il tpw;gidapd; tpfpjk; 2 : 9 Mf ,Ue;jJ. me;j thuj;jpy; Kl;ilapd; nkhj;j 
tpw;gid &.360 vd;why;> Qhapw;Wf;fpoik tpw;fg;gl;l Kl;ilfspd; kjpg;ig fhz;f. 
 

2. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

 
a. A man takes 10 days to finish a job where as a woman takes 6 days to finish the same 

job. Together they worked for 3 days and then the woman left. In how many days 
will the man complete the remaining job. 
xU MZf;F xU Ntiyia Kbf;f 10 ehl;fs; MFk; mNj Neuj;jpy; xU ngz; 
mNj Ntiyia Kbf;f 6 ehl;fs; vLj;Jf; nfhs;fpwhu;. ,UtUk; Nru;e;J 3 ehl;fs; 
Ntiy nra;jgpd; me;j ngz; ntspNawpdhu;. kPjKs;s Ntiyia Mz; vj;jid 
ehl;fspy; Kbg;ghu;? 
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b. Two taps can fill a cistern in 10 hours and 8 hours respectively. A third tap can 
empty it in 15 hours. How long will it take to fill the empty cistern, if all of them are 
opened together?  
xU njhl;bia ,U Foha;fs; jdpj;jdpNa KiwNa 10 kzp Neuk;;> 8 kzp 
Neuq;fspy; epug;Gfpd;wd. kw;nwhU Foha; ePH; epuk;gpa njhl;bia 15 kzp Neuj;jpy;  
fhyp nra;Ak;. njhl;b fhypahf ,Ue;J ,k;%d;W Foha;fSk; xNu rkaj;jpy; jpwe;J 
tplg;gl;lhy; mj;njhl;b vt;tsT Neuj;jpy;  epuk;Gk;? 

 

SECTION – B 
2 × 15 = 30  

 

3. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

a. If Rs. 782 be divided into three parts, Proportional to 
1 2 3

: :
2 3 4

 then the parts are.     

              (7.5m) 

&. 782 I,  
1 2 3

: :
2 3 4

 vd %d;W gFjpfshf gphpf;Fk; nghOJ ,tw;wpd; gFjpfs; vd;d?  

  
b. Four years ago Poonguzhali was three times old as her daughter. Six years from 

now the mother will be twice as old as her daughter. Find their present ages.   (7.5m) 
ehd;F Mz;LfSf;F Kd;G G+q;Foypapd; tajhdJ jd; kfspd; taijtpl tpl 
%d;W klq;F mjpfk;.  jw;NghjpypUe;J MW tUlq;fs; fopj;J> jhapd; tajhdJ 
kfspd; taijg;Nghy; ,Uklq;fhFk;. mtu;fspd; jw;Nghija taijf; fz;lwpaTk;. 

 

4. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

 
a. 5 men and 7 boys can earn Rs. 6440 in 7 days. 15 men and 17 boys can earn Rs. 20160 

in 8 days. In what time, will 21 men and 29 boys earn Rs. 65280?                             (9m) 
5 Mz;fs; 7 rpWtu;fs; 7 ehl;fs; Ntiyghh;j;J &. 6440k; 15 Mz;fs;> 17 rpWtu;fs; 
8 ehl;fs; Ntiyghh;j;jjpy; &. 20160-k; <l;bdh; vdpy;>  
21 Mz;fSk; 29 rpWtu;fSk; &. 65280 I vj;jid ehl;fspy; <l;b ,Ug;gh;?  

 
b. A and B can do a piece of work in 12 days and 18 days respectively. They work on 

alternate days starting with A on the first day. In how many days will the work be 
completed?                     (6m) 
A kw;Wk; B MfpNahh; xU Ntiyia KiwNa 12 ehs;fs; kw;Wk; 18 ehs;fspy; 
nra;th; Kjy; ehs; A If; nfhz;L Ntiyiaj; njhlq;fp mLj;jLj;j ehs;fspy; 
,UtUk; Ntiyia nra;fpd;wdh; vdpy;> NtiyahdJ vj;jid ehs;fspy; KbAk;? 

 
 
 


